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1)

Write in the same way as in example a).

a) 454.4 m = 454 m 4 dm = 4544 dm b) dm = 3 dm 3 cm = cm
c) 1.1 dm = dm cm = cm d) cm = 1 cm 6 mm = mm
e) km = 45 km 110 m = m f) cm = 9 cm 9 mm = mm
g) 1.2 dm = dm cm = cm h) m = 811 m 9 dm = dm
i) 5.5 cm = cm mm = mm j) m = 878 m 5 dm = dm

2)

Write in the same way as in example a).

a) 39.69 t = 39 t 690 kg = 39690 kg b) kg = 330 kg 930 g = g
c) kg = 372 kg 400 g = g d) 21.38 t = t kg = kg
e) 211.59 kg = kg g = g f) 86.35 t = t kg = kg
g) kg = 362 kg 680 g = g h) kg = kg g = 487350 g
i) t = 77 t 750 kg = kg j) kg = 769 kg 730 g = g

3)

Write in the same way as in example a).

a) 21.78 Euro = 21 Euro 78 Cent = 2178 Cent
b) Euro = Euro Cent = 4173 Cent
c) Euro = Euro Cent = 4502 Cent
d) 58.68 Euro = Euro Cent = Cent
e) Euro = 98 Euro 88 Cent = Cent
f) Euro = 34 Euro 43 Cent = Cent
g) Euro = Euro Cent = 1464 Cent
h) Euro = 11 Euro 2 Cent = Cent
i) Euro = 69 Euro 69 Cent = Cent
j) 86.34 Euro = Euro Cent = Cent
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4)

Write in the same way as in example a).

a) 59.68 m2 = 59 m2 68 dm2 = 5968 dm2 b) ha = ha a = 1138 a
c) 34.43 dm2 = dm2 cm2 = cm2

d) km2 = 90 km2 69 ha = ha e) ha = 48 ha 75 a = a
f) 45.15 dm2 = dm2 cm2 = cm2

g) dm2 = 87 dm2 56 cm2 = cm2 h) m2 = 97 m2 36 dm2 = dm2

i) 44.14 m2 = m2 dm2 = dm2 j) a = a m2 = 2872 m2

Good Luck!
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